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08-T3-MATHS-TIRUPATTUR ‘
ANNUAL EXAM - 2023
STD - VIII MATHEMATICS MARKS : 100
TIME : 2.30 Hrs ’
I. Choose the correct answaor, ” . Gx1m f]
1. Which of tho followlng Is groalosl? t;) ;L b) G c) }H d) 32
2. The numbor of digits In Iho square rool of 12345432115 ....a) 4 b)5 )6 d)7
3. Acuboid has o focos. 1) 4 by 5 - c) 6 d)7
Missing terms of -3m™ X 9 (e ienn o o) B visrinnns MN? .
a) mn?, 27 b) mn, 27 ¢) m*n?, 27 dymn?, 27
5. One factorof x +y[s ....... a) (x-y) b)(x+y) ¢) (x+y) d) (x-y)
Il. Fillin the blanks. . : ) S§x1=5
The valueof x Inx +5=121s W,
7. Sum of a number and its half is 30, then tho numbarls ..........
(0,-5)lias on ..o @IS, _
9. The medians of a triangle cross each other at ....ccovipive s
10. The procass of converting the plain taxt (o the Clpher text is called ........vo0.
lll. Match the following. e : . 5x1=5
1. ; 10 . %xdlxdz
12. Origin - x=20
13. Area of Rhombus . a2 + 2ab + b?
14. Additive identify - (0,0)
15. (a+b)? - 0
IV. Say True or False ; ' : ' 4x1=4
16. 78570 is not a perfect cube ' '
'17. The value of 2?is 4.
18. The linear equation has one solution,
19. 1, 2, 3 are pythagoreass triphlets,
V. Answer any 10 of the following - d 10x2=20
-6 8 -12
20. "ﬁ*+h—+-£i-

21. |s 10* a perfect square?
22. Find the value of (i) 47 (i) '2-]'3"
23. A spinner of radius 7.5 ¢cm I8 divided Inlo 6 equal sectors. Find the area of ach of the secters.
24, 5x(2y-3) :
25. Expand (x +4 )
267 Solve : 2x+5=9
27 What Is 25% of 30% of 4007 g . MATHS - PAGE 1
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,28. Can a right triangle have sides thal measure Scm, 12¢m, and 13em? .

,29./us1ng Repeated Subtraction method, find HCF of 42 and 70.

30. |n the figure, G is centroid of A xyz. If GL = 2.5¢m, find length of XL.
. Y L z

31. Aand B together can do a piece of work in 16 days ahd A alone can do itin 48 dalys.
How long will B take to complete the work?
32. Write t?o following in Scientific notation 4678600000000p.

-5Y
o2
VI. Answer any 9 of the following. - ~.(0 Ix5=45
a4 [4 (-_] -5.30 [ 12 —27) _ 4=
"B ETRS T . s
- 3'1723
/29

,36’” If ceniral angle of the sector is 45, radius is 16cm. Find length of arc.

37. (2x+5y)(3x-dy) i H.'L.

38 Factorise : X2+ 8x+ 15. L - . —
39. Find : -3 ( 4x+9 ) = 21 : 2B

40. Find the quadrants without plotting the points on a graph.
(M(3,4) (i) (57) (i) (2,0) [W)(4,-3) (v(0,10)
41. In Class VIII, a math club has 4 members M, A, T and H. Find the number of dlfferenl ways,
the club can elect i) a leader il) a leader and an assistant laader
42. Amat of length 180m is made by 15 women in 12 days. Howlong will it take for 32 women to
make a mat of length 512m.
43. Draw a pis chart for the following data relating to the cost of constmcti'on of a house.
Particulars Bricks Steel Cement |- Timber | Labour | Others
Expenses ] 10% 15% 25% 10% 20% 20%
44, Find x, so that (-7)* 2 (-7)5= (-7Y ' '
45. Divide (5y* - 25y* + 8y) + Sy.

VL. Answer all the questions. 2x8=16
A a) Construct a quadriateral DEAR with DE = 6cm, EA= 5cm, AR = 5,50, RD 5.2cm,
DA= 10 om. Find its area. (OR)
(b) Construct a rectangle BEAN, BE  %am, BN = 3cm. Also find ts area,
7. (a) Draw a graph of y = 5x {OR)

(b) Plot the foliowing points in the araph shest. R
A(5,2). B(-7.-3). C(2,4,D (41, -1)E (0, -5), F (2, 0}.Gi? A)H(4,0)
.3>/F2_ /_ﬂ / m., I i
e AV e . -_.-‘_:'f;if.':;,
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